[ Efficiency vs vertpos |

-
o
o
(]
>
»
>
>
o
c
[

)
=
)

Ratio

Efficiend

N

9.045

[
>
>

(8]
9.035

e
=
)

0.025

0.015

0.005

Ratio

0.4

0.09
0.08
0.07
0.06
0.05]
0.04
0.03
0.02
0.0

0

0.9

— R R R R R

— R R R R R R R

— R R R R R

I
...... A

' S EEEEE TR T TR

E ﬁ% i

FE 0 ]

1 - 444 4+ 4+ -

E. Lo 3 1 I I

F + HE

L 4

0.8
1072

10

1

10 0?
TP vertr (cr%)

—=— DQM_mKFit_TT_base
—e— DQM_mKFit_TT_retrain_noCandDNN
—+— DQM_mKFit_TT_retrain

0.05

0.04

0.03

0.02

0.0

le-

[y

0.9

0.l

[ Efficiency vs. sim PV

N
>
o

£
n

[
>
>

[S]
c
()

=
£
3]

Ratio

0

10 20 30
TP vert z (cm)

0.1
0.09
0.08
0.07
0.06)
0.05
0.04
0.03
0.02

0.0

&

..................................

................................

10
1.1
il
0.9

08

| s
o :

10

15 20
Sim. PV z (cm)




	Contents
	Page 1


